# Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematic 

Brigitta Szilágyi<br>Projective Randers change of * $P$-Finsler spaces

Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematica, Vol. 42 (2003), No. 1, 105--109

Persistent URL: http://dml.cz/dmlcz/120467

## Terms of use:

© Palacký University Olomouc, Faculty of Science, 2003

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://project.dml.cz

# Projective Randers Change of ${ }^{*} P$-Finsler Spaces * 

Brigitta SZILÅGYI

Institute of Mathematics and Informatics, Department of Geometry, Debrecen University, Debrecen, Egyetem Tér 1, H-4010, Hungary e-mail: bacsos@math.inf.unideb.hu
(Received October 26, 2002)


#### Abstract

The purpose of the present paper to study a projective Randers change and ${ }^{*} P$-Finsler spaces, which are special Finsler spaces. The main result: Let $F^{n}=\left(M^{n}, L(x, y)\right)$ and $\bar{F}^{n}=\left(M^{n}, L(x, y)\right)$ be a ${ }^{*} P$-Finsler spaces. If there exists a projective Randers change between $F^{n}$ and $\bar{F}^{n}$, then $F^{n}$ is $C$-reducible if and only if $\bar{F}^{n} C$-reducible, too.


Key words: Finsler space, projective Randers change, ${ }^{*} P$-Finsler space, $C$-reducible Finsler space, $P$-reducible Finsler space.
2000 Mathematics Subject Classification: 53B40

## 1 Introduction

Let $F^{n}=\left(M^{n}, L(x, y)\right)$ be an $n$-dimensional Finsler space, where $M^{n}$ is a connected differentiable manifold of dimension $n$ and $L(x, y)$, where $y^{i}=\dot{x}^{i}$ is the fundamental function defined on the manifold $T M \backslash 0$ of nonzero tangent vectors.

Definition 1 [6] A change of Finsler metric

$$
F^{n}=\left(M^{n}, L(x, y)\right) \rightarrow \bar{F}^{n}=\left(M^{n}, \bar{L}(x, y)\right)
$$

is called Randers change, if $\bar{L}(x, y)=L(x, y)+\rho(x, y)$, where $\rho(x, y)=\rho_{i}(x) y^{i}$ is a differential one-form on $M^{n}$.

[^0]The notion of a Randers change has been proposed by M. Matsumoto, named by Hashiguchi-Ichijyo [1] and studied in detail Shibata [8].

The change is projective if and only if $\rho_{i}(x)$ is locally a gradient vector field.
Definition 2 [2] If a Finsler space satisfies the condition $P_{i j k}-\lambda C_{i j k}=0$ the space is called a ${ }^{*} P$-Finsler space. Scalar function $\lambda(x, y)$ is given by $P_{r} C^{r} / C_{r} C^{r}$, where $P_{r}=P_{r}{ }^{s}{ }_{s}, C_{r}=C_{r}{ }^{s}{ }_{s}, C^{r}=C_{s} g^{s r}, P_{i j k}=C_{i j k \mid o}, 2 C_{i j k}=\partial g_{i j} / \partial y^{k}$.

## 2 The transformation of the tensor $P_{i j k}$ under a projective Randers change

Now we restrict our consideration to special Randers changes, called projective changes, which preserve all the geodesic curves. According to Hashiguchi-Ichjyo [1], a Randers change is projective, if and only if $\rho_{i \mid j}-\rho_{j \mid i}=0$, that is $\rho_{i}(x)$ is locally a gradient vector field and symbols " $\mid$ " mean the covariant derivatives in $F^{n}$ with respect to Berwald connection.

The transformation of $(v) h v$-torsion tensor $P_{i j k}=C_{i j k \mid o}$ has been studied by H. Matsumoto [6]. He considered: The $(v) h v$-torsion tensor $P_{i j k}=C_{i j k \mid o}$ of $F^{n}$ is transformed to $\bar{P}_{i j k}=\bar{C}_{i j k \mid o}$ of the form (1) by projective Randers change $F^{n} \rightarrow \bar{F}^{n}$.

$$
\begin{equation*}
\bar{C}_{i j k \mid o}=t C_{i j k \mid o}+\frac{r_{00}}{2 L} C_{i j k}+\frac{1}{2 L}\left(h_{i j} q_{k}+h_{j k} q_{i}+h_{k i} q_{j}\right) \tag{1}
\end{equation*}
$$

where

$$
\begin{gathered}
2 C_{i j k}=\partial g_{i j} / \partial y^{k}, \quad h_{i j}=g_{i j}-l_{i} l_{j}, \quad l_{i}=\partial L / \partial y^{i}, \\
q_{k}=r_{0 k}-\frac{r_{00}}{2 L}+\left\{\rho_{k}+(1+t) l_{k}\right\}, \quad r_{i j}=\frac{1}{2}\left(\partial_{j} \rho_{i}+\partial_{i} \rho_{j}\right)-\rho_{r} F_{i j}^{r}, \quad t=\frac{\bar{L}}{L} .
\end{gathered}
$$

We assume that

$$
C_{i j k \mid o}=P_{i j k}=\lambda(x, y) C_{i j k}
$$

and

$$
\bar{C}_{i j k \mid o}=\bar{P}_{i j k}=\lambda(x, y) \bar{C}_{i j k},
$$

that is $F^{n}$ and $\bar{F}^{n}$ are ${ }^{*} P$-Finsler spaces.
Then we have

$$
\begin{equation*}
\lambda(x, y) \bar{C}_{i j k}=\left(t \lambda(x, y)+\frac{r_{00}}{2 L}\right) C_{i j k}+\frac{1}{2 L}\left(h_{i j} q_{k}+h_{j k} q_{i}+h_{k i} q_{j}\right) \tag{2}
\end{equation*}
$$

For a projective Randers change the $h_{i j}$ tensor is transformed as

$$
\frac{\bar{h}_{i j}}{\bar{L}}=\frac{h_{i j}}{L}
$$

which implies $\bar{L} \bar{h}^{i j}=L h^{i j},[1]$.

Using the Matsumoto paper [6] after transvecting by $L h^{i j}$ from right and $\bar{L} \bar{h}^{i j}$ from left we obtain

$$
\begin{equation*}
q_{k}=\frac{2}{n+1}\left(\lambda(x, y) \bar{L} \bar{C}_{k}-L\left(t \lambda(x, y)+\frac{r_{00}}{2 L}\right) C_{k}\right) \tag{3}
\end{equation*}
$$

Substituting (3) into (2) it follows that it follows that

$$
\begin{align*}
\lambda(x, y)= & \bar{C}_{i j k}\left(t \lambda(x, y)+\frac{r_{00}}{2 L}\right) C_{i j k} \\
& +\frac{1}{L(n+1)}\left[\lambda(x, y) \bar{L}\left(\bar{C}_{k} h_{i j}+\bar{C}_{i} h_{j k}+\bar{C}_{j} h_{k i}\right)-\right. \\
& \left.-L\left(t \lambda(x, y)+\frac{r_{00}}{2 L}\right)\left(C_{k} h_{i j}+C_{i} h_{j k}+C_{j} h_{k i}\right)\right] . \tag{4}
\end{align*}
$$

Secondly we deal with $\frac{\bar{L}}{L} h_{i j}=\bar{h}_{i j}$ :

$$
\begin{gather*}
\frac{\lambda(x, y)}{n+1}\left[(n+1) \bar{C}_{i j k}-\left(\bar{C}_{k} \bar{h}_{i j}+\bar{C}_{i} \bar{h}_{j k}+\bar{C}_{j} \bar{h}_{k i}\right)\right]= \\
=\frac{1}{n+1}\left(t \lambda(x, y)+\frac{r_{00}}{2 L}\right)\left[(n+1) C_{i j k}-\left(C_{k} h_{i j}+C_{i} h_{j k}+C_{j} h_{k i}\right)\right] . \tag{5}
\end{gather*}
$$

From (5) we get the following
Theorem 1 Let $F^{n}=\left(M^{n}, L(x, y)\right)$ and $\bar{F}^{n}=\left(M^{n}, \bar{L}(x, y)\right)$ be *P-Finsler spaces. If there exists a projective Randers change between $F^{n}$ and $\bar{F}^{n}$, then $F^{n}$ is $C$-reducible if and only if $\bar{F}^{n} C$-reducible, too.

## 3 Some remarks for projective Randers change of special Finsler spaces

Now we put that

$$
C_{i j k \mid o}=P_{i j k}=\lambda(x, y) C_{i j k}
$$

then we get

$$
\begin{equation*}
\bar{P}_{i j k}=t \lambda(x, y) C_{i j k}+\frac{r_{00}}{2 L} C_{i j k}+\frac{1}{2 L}\left(h_{i j} q_{k}+h_{j k} q_{i} h_{k i} q_{j}\right) \tag{6}
\end{equation*}
$$

Using the Matsumoto paper [5] after transvecting by $L h^{i j}$ from left we obtain

$$
\bar{L} \bar{P}_{k}=C_{k}\left(\bar{L} \lambda(x, y)+\frac{r_{00}}{2}\right)+\frac{n+1}{2} q_{k}
$$

so we have

$$
\begin{equation*}
q_{k}=\frac{2}{n+1} \bar{L} \bar{P}_{k}-\frac{2}{n+1}\left(\bar{L} \lambda(x, y)+\frac{r_{00}}{2}\right) C_{k} \tag{7}
\end{equation*}
$$

Substituting (7) into (6) it follows that

$$
\begin{gather*}
\bar{P}_{i j k}=\frac{1}{n+1} \frac{\bar{L}}{L}\left(\bar{P}_{k} h_{i j}+\bar{P}_{i} h_{j k}+\bar{P}_{j} h_{k i}\right) \\
+\frac{1}{n+1}\left(t \lambda(x, y)+\frac{r_{00}}{2 L}\right)\left\{(n+1) C_{i j k}-\left(C_{k} h_{i j}+C_{i} h_{j k}+C_{j} h_{k i}\right)\right\} . \tag{8}
\end{gather*}
$$

Applying $h_{i j}=L \frac{\bar{h}_{i j}}{\bar{L}}$ the above yields

$$
\begin{gather*}
\bar{P}_{i j k}-\frac{1}{n+1}\left(\bar{P}_{k} \bar{h}_{i j}+\bar{P}_{i} \bar{h}_{j k}+\bar{P}_{j} \bar{h}_{k l}\right)= \\
\frac{1}{n+1}\left(t \lambda(x, y)+\frac{r_{00}}{2 L}\right)\left\{(n+1) C_{i j k}-\left(C_{k} h_{i j}+C_{i} h_{j k} C_{j} h_{k i}\right)\right\} \tag{9}
\end{gather*}
$$

(7) leads to

Theorem 2 Let $F^{n}{ }^{*} P$-Finsler space and $\bar{F}^{n}$ an arbitrary Finsler space. If there exists a projective Randers change $\bar{L}(x, y)=L(x, y)+\rho(x, y)$, then we have a (9) for tensors $\bar{P}_{i j k}$ and $C_{i j k}$.

By virtue of Theorem 2 the above yields two corollaries:

- If $F^{n}$ is a $C$-reducible space, then $\bar{F}^{n}$ is a $P$-reducible space.
- If $\bar{F}^{n}$ is a $P$ reducible space, then $F^{n}$ is a $C$-reducible space.

Next we are concerned with an assumption $\bar{F}^{n}$ is a ${ }^{*} P$-Finsler space, that is $\bar{C}_{i j k \mid o}=\lambda(x, y) \bar{C}_{i j k}$. Consequently (1) gives

$$
\begin{equation*}
\lambda(x, y) \bar{C}_{i j k}=t P_{i j k}+\frac{r_{00}}{2 L} C_{i j k}+\frac{1}{2 L}\left(h_{i j} q_{k}+h_{j k} q_{i}+h_{k i} q_{j}\right) \tag{10}
\end{equation*}
$$

Since $\bar{L} \bar{h}^{i j}=L h^{i j}$ holds

$$
q_{k}=\frac{2}{n+1}\left(\lambda(x, y) \overline{L C}_{k}-\bar{L} P_{k}-\frac{r_{00}}{2} C_{k}\right)
$$

Substitution in (10) leads to

$$
\begin{gather*}
\lambda(x, y) \bar{C}_{i j k}=\frac{t}{n+1}\left\{(n+1) P_{i j k}-\left(P_{k} h_{i j}+P_{i} h_{j k}+P_{j} h_{k i}\right)\right\} \\
-\frac{r_{00}}{2(n+1) L}\left\{(n+1) C_{i j k}-\left(C_{k} h_{i j}+C_{i} h_{j k}+C_{j} h_{k i}\right)\right\} \\
\quad+\frac{1}{(n+1) L}\left\{\lambda(x, y) \bar{L}\left(\bar{C}_{k} h_{i j}+\bar{C}_{i} h_{j k}+\bar{C}_{j} h_{k i}\right)\right\} \tag{11}
\end{gather*}
$$

Therefore $h_{i j}=L \frac{\bar{h}_{i j}}{\bar{L}}$, then (11) is written in the form

$$
\begin{align*}
& \frac{\lambda(x, y)}{n+1}\left\{(n+1) \bar{C}_{i j k}-\left(\bar{C}_{k} \bar{h}_{i j}+\bar{C}_{i} \bar{h}_{j k}+\bar{C}_{j} \bar{h}_{k i}\right)\right\}= \\
& \quad=\frac{t}{n+1}\left\{(n+1) P_{i j k}-\left(P_{k} h_{i j}+P_{i} h_{j k}+P_{j} h_{k i}\right)\right\} \\
& =\frac{r_{00}}{2(n+1) L}\left\{(n+1) C_{i j k}-\left(C_{k} h_{i j}+C_{i} h_{j k}+C_{j} h_{k i}\right)\right\} \tag{12}
\end{align*}
$$

From (12) we obtain following
Proposition 1 Let $\bar{F}^{n}$ be a ${ }^{*} P$-Finsler space and $F^{n}$ an arbitrary Finsler space. If there exists a projective Randers change $\bar{L}(x, y)=L(x, y)+\rho(x, y)$, then we get the relation (12) for tensors $\bar{C}_{i j k}, P_{i j k}$ and $C_{i j k}$.

From this Proposition 1 follows that $F^{n}$ is $C$-reducible, then $\bar{F}^{n}$ is $C$-reducible, too.

## 4 Example

It is well-known, that a Finsler space induced by a Funk metric is a ${ }^{*} P$-Finsler space, where: $P_{i j k}=-K L C_{i j k}\left(K \in \mathbb{R}^{+}\right)$[7]. If exists a projective Randers change between a ${ }^{*} P$-Finsler space induced by Funk metric, and an arbitrary Finsler space, then this space necessarily is a $P$-reducible Finsler space.

## References

[1] Hashiguchi, H., Ichijyo, Y.: Randers spaces with rectilinear geodetics. Rep. Fac. Sci. Kagoshima Univ. (Math. Phys. And Chem.) 13 (1980), 33-40.
[2] Izumi, H.: On ${ }^{*} P$-Finsler spaces $I, I I$. Memoirs of the Defense Academy 17 (1997), 1-9, 133-138.
[3] Matsumoto, M.: On Finsler spaces with curvature tensors of some special forms. Tensor N. S. 22 (1971), 201-204.
[4] Matsumoto, M.: On h-isotropic and $C^{h}$-recurrent Finsler spaces. J. Math. Kyoto Univ. (JMKYAZ) 11-1 (1971), 1-9.
[5] Matsumoto, M.: On Finsler spaces with Randers metric an special forms of important tensors. J. Math. Kyoto Univ. 14 (1974), 477-498.
[6] Matsumoto, M.: Projective Randers Change of P-reducible Finsler spaces. Tensor N. S. 59 (1998), 6-11.
[7] Shen, Z.: Differential Geometry of Spray and Finsler Spaces. Kluwer Academic Press., 2001.
[8] Shibata, C.: On invariant tensors of $\beta$-changes of Finsler metrics. J. Math. Kyoto Univ. 24 (1984), 163-188.


[^0]:    *Supported by OTKA 32058.

